CAMPINETS NOT - WAS PERSONAL THE LINE INC.	CITY OF DE		LLUCINAL	INVOICE	Vendor No:
TO THE PARTY OF TH	CITY OF DEFUNIAK SPRINGS	0 / H	7 7 00 / 7 7	DATE	151 ADKINS
everent average	Check#	OANVAKY ZOLL HEGAL	ביי איי איי איי איי איי איי איי איי איי	DESCRIPTION	ADKINSON LAW FIRM LLC
	62731	t			
	02/24/11	1,362.50	1 1 1 1 1 1	PAVARIE	Batk /
	TOTAL	. 00	PIOCOCIAL	חומרטו ואוד	Account:Acco
	\$1,362.50	1,362.50	AMOUNTAID		Bank Account: Accounts Pavable Acc

ADKINSON LAW FIRM ATTORNEYS AT LAW

MONTHLY BILL

CLAYTON J.M. ADKINSON CLAY B. ADKINSON

41 South 6th Street, DeFuniak Springs, FL 32435 Telephone (850) 892-5195 Fax (850) 892-3013 MAILING ADDRESS: Post Office Box 1207 DeFuniak Springs, FL 32435

SERVICE FOR:

CITY OF DEFUNIAK SPRINGS

FEB 1 8 2011

Accou

OB DESCRIPTION ATTORNEY
DATE February 8, 2011

BILL TO:

CITY OF DEFUNIAK SPRINGS

ATTN: KIM KIRBY

POSTED

DATE	SERVICE DESCRIPTION	HOURS	RATE	AMOUNT
	RETAINER	1	500.00	500.00
1/3/11	Received, Reviewed and Response to and from email Kim Kirby and Tara Burketter ref: AeroFX	0.5	150.00	75.00
1/6/11	Meeting with Kim Kirby - Preparation for Council Meeting	1	150.00	150.00
1/10/11	Received, Reviewed and Responded to email from Kim Revised Agreement ref: First National Bank Clock	1	150.00	150.00
1/19/11	Prepared Letter to Bruce Bowman with copy to Kim Kirby ref: AeroFX	0.25	150.00	37.50
1/24/11	Meeting with Kim Kirby - Preparation for Council Meeting	1.5	150.00	225.00
1/27/11	Attended Meeting with Greg Scoville ref: 18th Street Abandonment	1.25	150.00	187.50
1/31/11	Reviewed Joint Payee Agreement ref: Dixie Electrical & Cooper Lighting	0.25	150.00	37.50
1/31/11	Attended Special Meeting	0.5	150.00	75.00
	V#151			
	\$ 5/3_3/10 _ 1362 SO		·	
	V# 187 -		11	
	(°19 ° 110 ° 7 -	$ \nabla$	X	\$1 427 50

513.3110.75.00

MAKE CHECKS PAYABLE TO: ADKINSON LAW FIRM, LLC \$1,437.50

 01 - Analysis and evaluation of 02 - Attend 03 - Attend deposition of 04 - Arrange services of 05 - Conferences with
06 - Court appearance re 07 - Deposition of 08 - Document inspection 09 - Factual investigation re 10 - Legal research re
 11 - Miscellaneous 12 - Preparation for 13 - Preparation of 14 - Preparation for trial, incl: 15 - Prepare and file
16 - Prepare letter to 17 - Prepare opinion letter to 18 - Prepare status report 19 - Review 20 - Review file
 21 - Review letter from 22 - Revise 23 - Settlement negotiations with 24 - Take depositions of 25 - Telephone call to or from
26 - Email 27 - Telephone conference with 28 - Postage 29 - Copies 30 - Fax

Client and Matter	Date	Hours	Costs	Act. Code	Activity Description
City of DeFuniak ref: Aero FX	1/3/11	i.r.	75.00	16/13/19/26	Received, Reviewed and Response to and from Kim Kirby Received, Reviewed and Response to email from Kim Kirby and Tara Burkette ref. AeroFX
City of DeFuniak ref: DFS Council Meeting	1/6/11	3 -4	150.00	02	Meeting with Kim Kirby - Preparation for Council Meeting
City of DeFuniak ref: First National Bank Clock	1/10/11	p-a	150.00	19/22/26	Revised Agreement Received, Reviewed and Responded to email from Kim ref. First National Bank Clock
City of DeFuniak ref. Aero FX	1/19/11	.25	37.50	26/29	Prepared Letter to Bruce Bowman with copy to Kim Kirby ref. Aero FX
City of DeFuniak ref: DFS Council Meeting	1/24/11	1.5	225.00	02	Meeting with Kim Kirby - Preparation for Council Meeting
City of DeFuniak ref: 18th Street Abandonment	1/27/11	1.25	187.50	02	Attended Meeting with Greg Scoville ref. 18th Street Abandonment
City of DeFuniak ref: Dixie Electrical Cooper Lighting	1/31/11	.25	37.50	21	Reviewed Joint Payee Agreement ref: Dixic Electrical and Cooper Lighting
City of DeFuniak ref: Special Meeting	1/31/11	.5	75.00	***************************************	Attended Special Meeting
Total		6.25	937.50		

CITY OF DE			Vendor No: NVOICE
CITY OF DEFUNIAK SPRINGS	\cap		151 ADKINSO DATE 03/08/11
S Check#	District and a second a second and a second	r i	ADKINSON LAW FIRM LIC DATE DESCRIPTION 18/11 LEGAL SERVICES FEB
:k# 63028	4	• •	ON ON S FEB 2011
03/31/11			PAYABLE 2,155.08
TOTAL			Bank Account: Accounts Payable E DISCOUNT AMOUNT PA
\$2,155.08			AMOUNT PAID 2,155.08

۸.

ADKINSON LAW FIRM ATTORNEYS AT LAW

MONTHLY BILL

CLAYTON J.M. ADKINSON CLAY B. ADKINSON

41 South 6th Street, DeFuniak Springs, FL 32435 Telephone (850) 892-5195 Fax (850) 892-3013 MAILING ADDRESS: Post Office Box 1207 DeFuniak Springs, FL 32435

SERVICE FOR:

CITY OF DEFUNIAK SPRINGS

o DaFuniak Son

JOB DESCRIPTION ATTORNEY
DATE March 8, 2011

BILL TO:

CITY OF DEFUNIAK SPRINGS

ATTN: KIM KIRBY

V# 151

Accounting Department

POSTED 3/30/2011 Sá

DATE	SERVICE DESCRIPTION	HOURS	RATE	AMOUNT
				AMOUNT
	RETAINER	1	500.00	500.00
2/3/11	Received and Reviewed Petition	5	150.00	750.00
1	Preparation of Response	J	100.00	750.00
	Received and Reviewed Motion and Order			
	Prepared Letter to Court and City			
	Ref: Bell/Lopez v DeFuniak			
2/8/11	(Date billed is for last activity lasted)			
2/0/11	Received, Read, and Reviewed Email from Greg Scoville Ref: Sterner Property	0.5	150.00	75.00
2/10/11	Attended Workshop and Conference with Kim			
	Ref: Inter-Local Agreement for Floodplain Management	3	150.00	450.00
2/16/11	Prepared Letter to Helen Crenshaw and Emailed copy to	0.5	450.00	
	Nim Kirby Ref: Fence Encroachment-Helen Crenshaw	0.5	150.00	75.00
2/17/11	Prepared Audit Letter and Emailed copy to Sara Bowers and	0.75	150.00	110.50
24244	Kim Kirby Ref: Audit Letter	0.75	150.00	112.50
2/18/11	Prepared Letter Ref: RSQ	0.5	150.00	75.00
2/22/11	Prepared Letter to Tim Wells Ref: DOT v Wentworth	0.75	150.00	112.50
	Received, Read and Reviewed Email from and to Kim Kirby			
2/28/11	and Kelly Ref: Helen Crenshaw Letter			
2/20/11	Telephone Conference with Kim Ref: Airport Engineer Rankings	0.5	150.00	75.00
	The Allport Engineer Kankings			
	Cost - Postage and Copies			
	Table and oop.oo	1	5.08	5.08
		,		
223008	- 512 21/0 A			
. 477	3/5-3/10	1		
1500		'		
-	- 513-31/0 credit union 2	***		
	3/201			
	(30)	j	>	\$2,230,08
	· /	/ i		TOTAL DUE
	MAKE CHECKS PAYABLE TO:	' /		

MAKE CHECKS PAYABLE TO: ADKINSON LAW FIRM, LLC

01 - Analysis and evaluation of 02 - Attend 03 - Attend deposition of 04 - Arrange services of 05 - Conferences with
06 - Court appearance re 07 - Deposition of 08 - Document inspection 09 - Factual investigation re 10 - Legal research re
 11 - Miscellaneous 12 - Preparation for 13 - Preparation of 14 - Preparation for trial, incl: 15 - Prepare and file
16 - Prepare letter to 17 - Prepare opinion letter to 18 - Prepare status report 19 - Review 20 - Review file
21 - Review letter from 22 - Revise 23 - Settlement negotiations with 24 - Take depositions of 25 - Telephone call to or from
26 - Email 27 - Telephone conference with 28 - Postage 29 - Copies 30 - Fax

4 - Arrange services of 09 - Factual investigation re 5 - Conferences with 10 - Legal research re	ion re	14 - Preparation for trial, incl: 15 - Prepare and file		19 - Review 20 - Review file	24 - Take depositions of25 - Telephone call to or from	29 - Copies 30 - Fax
Client and Matter	Date	Hours	Costs	Act. Code	Activity Description	escription
City of DeFuniak ref: Bell/Lopez v DeFuniak	2/3/11	Ċ,	750.00	13,16	Received and Reviewed Petition for Writ Preparation of Response	or Writ

	Cost - Postage & Copies	City of DeFuniak ref: Airport	City of DeFuniak ref. DOT v Wentworth Helen Crenshaw	City of DeFuniak ref: RSQ	City of DeFuniak ref: Audit Letter	City of DeFuniak ref: Helen Crenshaw	City of DeFuniak ref: Inter-Local - Floodplain	City of DeFuniak ref: Sterner Property	City of DeFuniak ref: Bell/Lopez v DeFuniak	Client and Matter
TOTALS		2/28/11	2/22/11	2/18/11	2/17/11	2/16/11	2/10/11	2/8/11	2/3/11	Date
11.5		٠,٠	.75	is	.75	<i>.</i>	ψ	ະກ	Ņ	Hours
1730.08	5.08	75.00	112.50	75.00	112.50	75.00	450.00	75.00	750.00	Costs
		25	16,21,22	16	13,26	16,26	02	19	13,16	Act. Code
		Telephone Conference with Kim ref: Airport Engineer Rankings	Prepared Letter to Tim Wells - ref: DOT vs Wentworth Received, Read and Reviewed Email from Kim Kirby ref: Helen Crenshaw Letter Email to Kim Kirby and Kelly ref: Helen Crenshaw Letter	Prepared Letter ref: RSQ	Prepared Audit Letter and Email Sara Bowers and Kim Kirby copy	Prepared Letter to Helen Crenshaw and Emailed copy to Kim Kirby ref: Fence Encroachment	Attended Workshop and Conference with Kim ref: Inter-Local Agreements for Floodplain Management	Received, Read and Reviewed Email from Greg Scoville ref: Sterner Property	Received and Reviewed Petition for Writ Preparation of Response Prepared Letter to Court Received and Reviewed Motion Received and Reviewed Order Prepared Letter to the City ref: Bell/Lozez Date billed is for last activity listed	Activity Description

CITY OF DEFUNIAK SPRINGS	Vendor No: NVOICE
O H	7010 201
D H	
ACN.	04/
HAK	
Id s	51 ADKI DATE 04/07/11
SHNO	NSC
လိ	MAR L
	OH DE
	201 FIR
Check#	DATE DESCRIPTION MARCH 2011 LEGAL
#	EG NOI
δ ω	
63147 04/15/11	
04	
/15	
11/	PAYABLE 1,966.
	, 960 18A,
	Ban AYABLE 1,966.61
	, , , , , , , , , , , , , , , , , , ,
TOTAL	DISO
ĀĽ	OC O
	SCOUNT . 00
	o loor
\$1,966.61	Bank Account:Accounts Payable E DISCOUNT AMOUNT PA .61 .00 1,966.6:
90	MOUNT PAII
67	NT
	AMOUNT PAID 1,966.61
<u></u>	

ċ

ADKINSON LAW FIRM ATTORNEYS AT LAW

MONTHLY BILL

CLAYTON J.M. ADKINSON CLAY B. ADKINSON

41 South 6th Street, DeFuniak Springs, FL 32435 Telephone (850) 892-5195 Fax (850) 892-3013 MAILING ADDRESS: Post Office Box 1207 DeFuniak Springs, FL 32435

SERVICE FOR:
CITY OF DEFUNIAK SPRINGS

BILL TO:
CITY OF DEFUNIAK SPRINGS
ATTN: KIM KIRBY

ACCORD
DEFUNIAR

ACCORD
DEPUNIAR

DEPUNIAR

DEPUNIAR

ACCORD
DEPUNIAR

DEPUNIAR

DEPUNIAR

DEPUNIAR

ACCORD
DEPUNIAR

DE

ADKINSON LAW FIRM, LLC-

DATE	SERVICE DESCRIPTION	HOURS	RATE	AMOUNT
		4	500.00	500.00
	RETAINER	1	300.00	
3/2/11	Attended Meeting with Greg and Kim	1.5	150.00	225.00 75.00
3/7/11	Attended Planning Board Meeting	0.5	150.00	
3/9/11	Reviewed Fire Agreement with WCI and Meeting with the Mayor ref: Fire Agreement	0.5	150.00	75.00
3/10/11	Prepared Ordinance and Notice of Intent to Enact Ordinance with Email to Michelle ref: Property Tax	2.25	150.00	337.50
3/10/11	Reviewed Contract and Phone Conference with Kim	0.75	150.00	112.50
خ	ref: URS Contract	0.5	150.00	75.00
3/11/11	Emails to and from Greg Scoville and Kim ref: Wabash	0.75	150.00	112.50
-3/17/11	Conference with the Mayor and City Marshall	2	150.00	300.00
3/24/11	Prepared Amended Notice and Amended Resolution of Abandonment ref: 18th Street	0.5	150.00	75.00
3/24/11	Reviewed Hutch Inquiry and sent Email to Kim	0.5	100.00	70.00
3/29/11	ref: Election Inquiry Telephone Conference with Kim and Kelly	0.3333	150.00	50.00
3/30/11	ref: Airplane Repo Sent Email on Sunshine and Public Records to City to send	0.25	150.00	37.50
3/31/11	to Council ref: Council Member Orientation Email Read, Reviewed and Response to Email from Kim	0.3333	150.00	50.00
	ref: Airport	1	16.62	16.62
	Cost: Certified Postage x3 ref: 18th Street Abandonment	1	10.02	10.02
14 18	7. 7509		[.).	40.044.04
1)		1	\prec	\$2,041.61
11#150	1- 513-3110-0041.61	/ \	λÀ	TOTAL DUE
V	AS Un>		月ク , -	
	MAKE CHECKS PAYABLE TO: (15,00)	L.P	10/10	

POSTED S

:

ACTIVITY CODES

Time Sheet for CITY OF DEFUNIAK

MARCH 2011

01 - Analysis and evaluation of 02 - Attend 03 - Attend deposition of 04 - Arrange services of 05 - Conferences with

06 - Court appearance re
07 - Deposition of
08 - Document inspection
09 - Factual investigation re
10 - Legal research re

Juounedoo

11 - Miscellaneous

16 - Prepare letter to
18 - Prepare opinion letter to
18 - Prepare status report
19 - Review
20 - Review file 12 - Preparation for 13 - Preparation of 14 - Preparation for trial, incl: 15 - Prepare and file

21 - Review letter from
22 - Revise
23 - Settlement negotiations with
24 - Take depositions of
25 - Telephone call to or from

26 - Email
27 - Telephone conference with
28 - Postage
29 - Copies
30 - Fax

	_												
Activity Description	Attended Meeting with Greg and Kim	Attended Planning Board Meeting	Reviewed Fire Agreement with WCI and Meeting with the Mayor reft Fire Agreement	Prepared Ordinance and Notice of Intent to Enact Ordinance with Email to Michelle ref: Property Tax Exemptions	Reviewed Contract and Phone Conference with Kim ref. URS Contract	Emails to and from Greg Scoville and Kim ref: Wabash	Conference with the Mayor and City Marshall	Prepared Amended Notice and Amended Resolution of Abandonment ref: 18th Street	Reviewed Hutch Inquiry and sent Email to Kim ref: Election Inquiry	Telephone Conference with Kim and Kelly ref. Airplane Repo	Sent Email on Sunshine and Public Records to City to send to Council ref: Council Member Orientation Email	Read, Reviewed and Response to Email from Kim ref: Airport	
Act. Code	02	02	19/05	13/26	19/27	26	05	13	19/26	27	26	26	
Costs	225.00	75.00	75.00	337.50	112.50	75.00	112.50	300.00	75.00	50.00	37.50	50.00	16.62
Hours	1.5	5.	S.	2.25	57:	.5	7.5	2.0	ئ.	.33	.25	.33	
Date	3-2-11	3-7-11	3-9-11	3-10-11	3-10-11	3-11-11	3-17-11	3-24-11	3/24/11	3-29-11	3-30-11	3-31-11	
Client and Matter	City of DePuniak ref: Meeting	City of DeFuniak ref: Planning Board Meeting	City of DeFuniak ref. Fire Agreement	City of DeFuniak ref: Property Tax Exemptions	City of DeFuniak ref: URS Contract	City of DeFuniak ref. Easement on Wabash	City of DeFuniak ref: Meeting	City of DeFuniak ref. Abandonment 18th Street	City of DeFuniak ref: Election Inquiry	City of DeFuniak ref. Airplane Repo	City of DeFuniak ref: Council Member Orientation Email	City of DeFuniak ref: Airport	Cost: Certified Postage x3 ref. 18th Street Abandonment

1541.61

Total Due

	424.7	7.				
נום אס אבוט			g.	APRIL2011	INVOICE	Vendor No:
CITY OF DEFUNIAK SPRINGS			9 -	05/09/11	DATE	151 ADKINS
Check#				LEGAL SERVICES AFRIL 2011	DESCRIPTION	ADKINSON LAW FIRM LLC
63364 05/19/11				2011		
9/11				1,362.50	PAYABLE	Bank
TOTAL				. 00	DISCOUNT	Bank Account: Accounts Payable
\$1,362.50				1,362.50	AMOUNT PAID	ınts Payable

÷

ADKINSON LAW FIRM ATTORNEYS AT LAW

MONTHLY BILL

CLAYTON J.M. ADKINSON CLAY B. ADKINSON

41 South 6th Street, DeFuniak Springs, FL 32435 Telephone (850) 892-5195 Fax (850) 892-3013 MAILING ADDRESS: Post Office Box 1207 DeFuniak Springs, FL 32435

TOTAL DUE

SERVICE FOR:

CITY OF DEFUNIAK SPRINGS



JOB DESCRIPTION ATTORNEY
DATE May 9, 2011

BILL TO:

CITY OF DEFUNIAK SPRINGS



POSTED 5/13/2011 S -

DATE	SERVICE DESCRIPTION	HOURS	RATE	AMOUNT
	RETAINER	4	500.00	500.00
4/8/11	Conference with Kim ref: Preparation for Council Meeting	1	150.00	150.00
, 4/11/11	Discussed Appointment of City Clerk with Kim Researched Dual Office Holding Issue Phone Calls with Ethics Commission	1.25	150.00	187.50
4/13/11	Revised Resolution and Email to Kim ref: 18 th Street	0.75	150.00	112.50
4/14/11	Attended Orientation for Mac Work	0.5	150.00	75.00
4/15/11	Attended Orientation for Ron Kelly	0.5	150.00	. 75.00
4/21/11	Read and Reviewed Email and Phone Conference with Kelly ref: Airport 542 _ 3160	0.25	150.00	37.50
4/21/11	Researched Canvassing Board Alternate Issue Discussed with City Marshal and Kim 52/ - 3/5	0.5	150.00	75.00
4/23/11	Received and Reviewed Public Records Request Researched Exemption Issue for Police Department Emails with City 52 / -3/00	1.5	150.00	225.00
521- 3	<i>∞</i> ∞ ∞			
542 -		<u> </u>		\$1,437.50

542 - 37.50 513 - 1100.00 - 31/0

MAKE CHECKS PAYABLE TO:
ADKINSON LAW FIRM, LLC

V#151 136250

187 -75.00

William Hallowery 5/12/2011

01 - Analysis and evaluation of 02 - Attend 03 - Attend deposition of 04 - Arrange services of 05 - Conferences with
f 06 - Court appearance re 07 - Deposition of 08 - Document inspection 09 - Factual investigation re 10 - Legal research re
11 - Miscellaneous 12 - Preparation for 13 - Preparation of 14 - Preparation for trial, incl: 15 - Prepare and file
16 - Prepare letter to 17 - Prepare opinion letter to 18 - Prepare status report 19 - Review 20 - Review file
21 - Review letter from 22 - Revise 23 - Settlement negotiations with 24 - Take depositions of 25 - Telephone call to or from
26 - Email 27 - Telephone conference with 28 - Postage 29 - Copies 30 - Fax

	 	 					,			
		City of DeFuniak ref: Public Records Request	City of DeFuniak ref: Canvassing Board	City of DeFuniak ref: Airport	City of DeFuniak ref: Orientation	City of DeFuniak ref: Orientation	City of DeFuniak ref: 18th Street	City of DeFuniak ref: City Clerk Duel Office Holding and Appointment	City of DeFuniak ref: Council Meeting	Client and Matter
TOTALS		4/26/11	4/21/11	4/21/11	4/15/11	4/14/11	4/13/11	4/11/11	4/08/11	Date
6.25		 1.50	0.50	0.25	0.50	0.50	0.75	1.25	\$_4	Hours
937.50		225.00	75.00	37.50	75.00	75.00	112.50	187.50	150.00	Costs
		9/10/21/26	9/10/27	19/26/27	02	02	22/26	9/10/27	02	Act. Code
		Received and Reviewed Public Records Request, Researched Exemption Issue for Police Department, Emails with City	Researched Canvassing Board Alternate Issue, Discussed with City Marshal and Kim	Read and Reviewed Email and Phone Conference with Kelly ref: Airport	Attended Orientation for Ron Kelly	Attended Orientation for Mac Work	Revised Resolution and Email to Kim ref: 18th Street	Discussed Appointment of City Clerk with Kim, Researched Dual Office Holding Issue, Phone Calls with Ethics Commission	Conference with Kim ref: Preparation for Council Meeting	Activity Description

	M Ke
ECT LO ALID	Vendor No: NVOICE
CITY OF DEFUNIAK SPRINGS	151 ADKIN DATE 06/06/11
.X G S	DATE DESCRIPTION TAY 2011 LEGAL
Check#	W FIRM LIC DESCRIPTION 2011 LEGAL
ა ა ა ა	
06/16/11	PAYABLE 3,125.00
TOTAL	Account: Acco
\$3,125.00	Bank Account: Accounts Payable E DISCOUNT AMOUNT PAID .00 3,125.00

.

-

.

ADKINSON LAW FIRM ATTORNEYS AT LAW

MONTHLY BILL

CLAYTON J.M. ADKINSON CLAY B. ADKINSON

41 South 6th Street, DeFuniak Springs, FL 32435 Telephone (850) 892-5195 Fax (850) 892-3013

MAILING ADDRESS: Post Office Box 1207 DeFuniak Springs, FL 32435

SERVICE FOR: CITY OF DEFUNIAK SPRINGS kuniak. BILL TO: Department

JOB DESCRIPTION ATTORNEY **DATE** June 6, 2011

CITY OF DEFUNIAK SPRINGS

DATE	SERVICE DESCRIPTION	HOURS	₹ RATE	****
		HOURS	RATE	AMOUNT
	RETAINER			
5/2/11	Email to J.D. Sullivan ref: Well Bid	0.75	500.00 150.00	1 000.00
	Reviewed Documents from PMA	0.73	150.00	112.50
	Attended Planning Board Meeting Attended Meeting at City Hall with Kim	0.5	150.00	75.00
5/3/11	Research Exemption and Reviewed Request	1	150.00	
11	ref: Public Records	1	150.00	150.00
5/4/11	Attended Orientation of Councilman Wright	0.5	150.00	75.00
,	Attended Meeting with Chief Weeks and City Staff	0.5	150.00	75.00
5/5/11	ref: Public Record			
5/10/11	Attended Meeting with City Staff Attended Meeting with Bill Holloway and Greg Scoville	1.75	150.00	262.50
	ref: Airport Overlay District	0.75	150.00	112.50
5/11/11	Attended Special Meeting with City Manager	0.5	150.00	75.00
5/12/11	Attended Meeting with Grea Scoville, Bill Holloway and	0.0	150.00 150.00	75.00 150.00
5/23/11	Councilman Ennis	1	100.00	150.00
3/23/11	Prepared Ordinance to Amend Chapter 23 X2	8	150.00	1200.00
	Prepared (2) Notices of Intent to Enact Ordinances ref: Chapter 23 Usage Charges and Connection Charges	77		
5/24/11	Attended Meeting with City Staff and Councilman Wright	0.75		
	ref: Water Lines	0.75	150.00	112.50
5/25/11	Prepared (2) Notices of Intent to Enact Ordinance	1.5	150.00	225.00
	ref: Chapter 23 Usages Charges and Connection Charges		100.00	220.00
	Littali to Michelle ref. Copies of Ordinances and Notices			
	Read and Review Letter from Sara Bowers ref: Audit Letter			

	(1) Mes Withellaway			
	Williate Hallaway			
	-///2-1/			

513.316

\$3,200.00 **TOTAL DUE**

MAKE CHECKS PAYABLE TO:

V#/S/ADKINSON LAW FIRM, LLC

V#187. 75.00

01 - Analysis and evaluation of 02 - Attend 03 - Attend deposition of 04 - Arrange services of 05 - Conferences with
06 - Court appearance re 07 - Deposition of 08 - Document inspection 09 - Factual investigation re 10 - Legal research re
 i.1 - Miscellaneous i.2 - Preparation for i.3 - Preparation of i.4 - Preparation for trial, incl: i.5 - Prepare and file
16 - Prepare letter to 17 - Prepare opinion letter to 18 - Prepare status report 19 - Review 20 - Review file
21 - Review letter from 22 - Revise 23 - Settlement negotiations with 24 - Take depositions of 25 - Telephone call to or from
26 - Email 27 - Telephone conference with 28 - Postage 29 - Copies 30 - Fax

		City of DeFuniak ref. Ordinance, Notice, Auditor Letter	City of DeFuniak ref. Water Lines	City of DeFuniak ref. Ordinance	City of DeFuniak ref. Meeting	City of DeFuniak ref: Special Meeting	City of DeFuniak ref. Airport Overlay District	City of DeFuniak ref: Meeting	City of DeFuniak ref: Public Records Request	City of DeFuniak ref. Orientation	City of DeFuniak ref: Public Records Requaest	City of DeFuniak ref: Meeting City Hall	City of DeFuniak ref. Planning Board	City of DeFuniak ref. Well Bid and PMA	Client and Matter
Totals		5/25/11	5/24/11	5/23/11	5/12/11	5/11/11	5/10/11	5/5/11	5/4/11	5/4/11	5/3/11	5/2/11	5/2/11	5/2/11	Date
18.5		1.5	.75	~		.50	.75	1.75	.50	.50	<u></u>	<u> </u>	.50	.75	Hours
2587.50		225.00	75.00	1200.00	150.00	75.00	112.50	112,50	75.00	75.00	150.00	150.00	75.00	112.50	Costs
	Antistackerrenis presidential antistation in the control of the co	13,26 ,19	02	13	02	02	02	02	02	02	10/19	02	02	26/19	Act. Code
		Prepared (2) Notices of Intent to Enact Ordinances ref: Chapter 23 Usage Charges and Connection Charges Email to Michelle ref: Copies of Ordinances and Notices Read and Review Letter from Sara Bowers ref: Auditor Letter	Attended Meeting with City Staff and Councilman Wright ref: Water Lines	Prepared Ordinance to Amend Chapter 23 X2 Prepared Draft Ordinance ref: Referendum for Council Term Prepared Draft ordinance ref: Referendum for Mayor to Vote	Attended Meeting with Greg Scoville, Bill Holloway and Councilman Ennis	Attended Special Meeting with City Manager	Meeting with Bill Holloway and Greg Scoville ref. Airport Overlay District	Meeting with City Staff	Attended Meeting with Chief Weeks and City Staff ref: Public Record	Attended Orientation of Councilman Wright	Research Exemptions and Reviewed Request ref: Public Record	Attended Meeting at City Hall with Kim	Attended Planning Board Meeting	Email to J.D. Sullivan ref: Well Bid Reviewed Documents from PMA	Activity Description

REORDER 808 + U.S. PATENT NO.	EG do ALID	JUNE 2011	Vendor No:
REORDER 000 + U.S. PATENT NO, 5C20290, 5575500, 5041103, 578C363, 508A36A, 6030000	CITY OF DEFUNIAK SPRINGS	07/21/11	151 ADKINS
5984364, 8030000	3S Check#	DESCRIPTION LEGAL SERVICES JUNE 2011	ADKINSON LAW FIRM LLC
	63 9 T T	S JUNE 2011	Ω
	07/28/11	1,137.50	Bank
	TOTAL	DISCOUNT.00	Bank Account: Accounts Payable
	\$1,137.50	1,137.50	ints Payable

÷

ADKINSON LAW FIRM ATTORNEYS AT LAW

MONTHLY BILL

CLAYTON J.M. ADKINSON CLAY B. ADKINSON

41 South 6th Street, DeFuniak Springs, FL 32435 Telephone (850) 892-5195 Fax (850) 892-3013

MAILING ADDRESS: Post Office Box 1207 DeFuniak Springs, FL 32435

SERVICE FOR:

CITY OF DEFUNIAK SPRINGS

BILL TO:

CITY OF DEFUNIAK SPRINGS

Accounting Department

122/11
Kellyschultz
JOB DESCRIPTION ATTORNEY
DATE July 21, 2011

DATE	SERVICE DESCRIPTION	HOURS	RATE	AMOUNT
		1		
	RETAINER	1	500.00	500.00
6/6/11	Attended Planning Board Meeting	1	150.00	150.00
6/8/11	Prepared Letter to Dave Cominsky and Jeff Toney, Esq. ref: Watkins Tree	0.5	150.00	75.00
6/15/11	Attended meeting with Walton Co., Mayor Carpenter and Gerry Beard ref: 331	0.5	150.00	75.00
6/21/11	Attended Special Meeting	0.75	150.00	112.50
6/28/11	Attended Deposition ref: Bowers v City of DeFuniak	2	150.00	300.00
-				

\$1,212.50 **TOTAL DUE**

MAKE CHECKS PAYABLE TO: ADKINSON LAW FIRM, LLC

513-3110 1137.50

Time Sheet for CITY OF DEFUNIAK

ACTIVITY CODES

16 - Prepare letter to	17 - Prepare opinion letter to	18 - Prepare status report	19 - Review	20 - Review file
11 - Miscellaneous	12 - Preparation for	13 - Preparation of	14 - Preparation for trial, incl:	15 - Prepare and file
06 - Court appearance re	07 - Deposition of	08 - Document inspection	09 - Factual investigation re	10 - Legal research re
01 - Analysis and evaluation of	02 - Attend	03 - Attend deposition of	04 - Arrange services of	05 - Conferences with

26 - Email
27 - Telephone conference with
28 - Postage
29 - Copies
30 - Fax

21 - Review letter from 22 - Revise 23 - Settlement negotiations with 24 - Take depositions of 25 - Telephone call to or from

Client and Matter	Date	Hours	Costs	Act. Code	Activity Description
City of DeFuniak ref: Planning Board	6-6-11		150.00	02	Attended Planning Board Meeting
City of DeFuniak ref. Watkins Tree	6-8-11	,č;	75.00	16	Prepared Letter to Dave Cominsky and Jeff Toney, Esq. Ref: Watkins Tree
City of DeFuniak ref. Hwy. 331	6-15-11	5.	75.00	02	Attended meeting with Walton Co., Mayor Carpenter, and Gerry Beard ref: 331
City of DeFuniak ref: Special Meeting	6-21-11	.75	112.50	02	Attended Special Meeting
City of DeFuniak ref: Bowers v City DFS	6-28-11	2	300.00	02	Attended Deposition ref. Bowers v City of DeFuniak
		3			

712.50

4.75

TOTALS

REORDER 908 - U.S. PATENT N	CITY OF D	JULY2011	INVOICE	Vendor No:
REORDER 908 - U.S. PATENT NO. 5530290, 5573500, 5641103, 5785353, 5984364, 6030000	CITY OF DEFUNIAK SPRINGS	08/22/11	DATE	151 ADKIN
5353, 5984364, 6030000		LEGAL SERVICES JULY 2011	DESCRIPTION	ADKINSON LAW FIRM LLC
	Check#	ICES JULY	PTION	LLC
	64119	2 C H		
	08/25/11	T, 414.00	PAYABLE	Bank
	TOTAL		DISCOUNT	Bank Account: Accounts Payable
	\$1,212.50		AIVIOUNI TAID	ints Payable

,

ţ

copy of Billing to Conetta

ADKINSON LAW FIRM ATTORNEYS AT LAW

MONTHLY BILL

CLAYTON J.M. ADKINSON CLAY B. ADKINSON 41 South 6th Street, DeFuniak Springs, FL 32435 Telephone (850) 892-5195 Fax (850) 892-3013 MAILING ADDRESS: Post Office Box 1207 DeFuniak Springs, FL 32435

SERVICE FOR:	
CITY OF DEFUNIAK SPRINGS	
•	

JOB DESCRIPTION ATTORNEY
DATE August 22, 2011

BILL TO: CITY OF DEFUNIAK SPRINGS

8/22/11 HellyD. Schnetzy

DATE	SERVICE DESCRIPTION	HOURS	RATE	AMOUNT
	RETAINER	1	500.00	500.00
7/5/11	Attended Special Meeting	1	150.00	150.00
7/7/11	Attended Planning Board Meeting	0.5	150.00	75.00
7/13/11	Prepared Ordinance and Notice of Intent to Enact Ordinance ref: Amended Appendix A - Zoning CH 5 Sec 5.03	3	150.00	450.00
7/25/11	Attended Conference LBudget wordeshop	0.75	150.00	112.50
	8/23/20U			
				\$4 207 50

\$1,287.50 TOTAL DUE

MAKE CHECKS PAYABLE TO: ADKINSON LAW FIRM, LLC

V#151 - 1212.50

AUG 23 2011

V#187

75.00

Accounting Department

Time Sheet for CITY OF DEFUNIAK

ACTIVITY CODES						
01 - Analysis and evaluation of 02 - Attend 03 - Attend deposition of 04 - Arrange services of 05 - Conferences with	06 - Court appearance re 07 - Deposition of 08 - Document inspection 09 - Factual investigation re 10 - Legal research re		 11 - Miscellaneous 12 - Preparation for 13 - Preparation of 14 - Preparation for trial, incl: 15 - Prepare and file 		16 - Prepare letter to 17 - Prepare opinion letter to 18 - Prepare status report 19 - Review 20 - Review file	21 - Review letter from 26 - Email 22 - Revise 27 - Telephone conference with 23 - Settlement negotiations with 28 - Postage 24 - Take depositions of 29 - Copies 25 - Telephone call to or from 30 - Fax
Client and Matter	ıtter	Date	Hours	Costs	Act. Code	Activity Description
City of DeFuniak ref: Special Meeting	Meeting	7/5/11	—	150.00	02	Attended Special Meeting
City of DeFuniak ref: Planning Board	g Board	11/2/11	.50	75.00	02	Attended Planning Board Meeting
City of DeFuniak ref: Ordinance CH 5 SEC 5.03	nce CH 5 SEC 5.03	7/13/11	3	450.00	13	Prepared Ordinance and Notice of Intent to Enact Ordinance ref: Amend Appendix A-Zoning CH 5 SEC 5.03
City of DeFuniak ref: Conference	ance	7/25/11	27.	112.50	92	Conference
				A ANNI MALANA MANANTANI MA		
THE	mind below the second of the s					
	/			Authority de la company de		
	130					
	De				THE RESIDENCE SHARE SHAR	
G 2 COU Dat	Fu				THE RESIDENCE OF THE PROPERTY AND THE PR	
	nia			The state of the s		
	KS.			The state of the s		
ngs	Sounds					
The second secon	A CONTRACTOR OF THE CONTRACTOR	TOTALS	5.25	787.50		

CITY OF DEFI	3 (1)	Vendor No: INVOICE AUGUST2011 sept 2011	·······································	•
CITY OF DEFUNIAK SPRINGS	·	DATE DEST		
Check#		FIRM LLC SCRIPTION 2011 LEGAL ERVICES SEPT	•	•
64446 10/06/11		PAYABLE 3,050. 2011 3,357.		
TOTAL	74 2011	Bank Account:Acc AYABLE DISCOUNT 3,050.00 .00 3,357.85 .00		
\$6,407.85		Bank Account: Accounts Payable DISCOUNT AMOUNT PAID .00 .00 3,050.00 .85 .00 3,357.85		

ADKINSON LAW FIRM ATTORNEYS AT LAW

MONTHLY BILL

CLAYTON J.M. ADKINSON CLAY B. ADKINSON

41 South 6th Street, DeFuniak Springs, FL 32435 Telephone (850) 892-5195 Fax (850) 892-3013

MAILING ADDRESS: Post Office Box 1207 DeFuniak Springs, FL 32435

SERVICE FOR:

CITY OF DEFUNIAK SPRINGS

SEP 2 7 2011

JOB DESCRIPTION ATTORNEY

DATE September 12, 2011

BILL TO:

CITY OF DEFUNIAK SPRINGS

Accounting Jepartmenk

HOURS

DATE SERVICE DESCRIPTION **RATE AMOUNT** RETAINER 1 500.00 500.00 8/1/11 Attended Planning Board Meeting 0.75 150.00 112.50 Attended Mediation of Bowers vs City of DeFuniak 8/15/11 5.75 150.00 862.50 Received and Reviewed Fax and Phone Conference from 0.5 150.00 75.00 Kelly ref: Greg Scoville 8/16/11 Attended Meeting at City Hall 0.75 150.00 112.50 8/23/11 Revised Appendix A (801 Revision) Ordinance 0.75 150.00 112.50 Email ordinance to Lacy and Greg Scoville Preparation of Term Limits Ordinance 150.00 300.00 Preparation of Run Off Election Ordinance 3.25 150.00 487.50 Preparation of Notice of Intent to Enact Run Off Election Ordinance Email Ordinance and Notice to Enact Run Off Election Ordinance to Jonathan Read and Reviewed Email from Jonathan 0.5 150.00 75.00 ref: FAA Documents Preparation of Resolution 2 150.00 300.00 8/29/11 Conference with Bart Smith ref: Sexual Predator Ordinance 1 150.00 150.00 8/31/11 Read and Reviewed Contract for Professional Energy audit 0.25 150.00 37.50

> \$3,125.00 **TOTAL DUE**

MAKE CHECKS PAYABLE TO: ADKINSON LAW FIRM, LLC

Service

5/3-3/10

ADKINSON LAW FIRM ATTORNEYS AT LAW

MONTHLY BILL

CLAYTON J.M. ADKINSON CLAY B. ADKINSON

41 South 6th Street, DeFuniak Springs, FL 32435 Telephone (850) 892-5195 Fax (850) 892-3013 MAILING ADDRESS: Post Office Box 1207 DeFuniak Springs, FL 32435

SERVICE FOR:

CITY OF DEFUNIAK SPRINGS

SEP 3 0 2011

JOB DESCRIPTION ATTORNEY
DATE September 29, 2011

BILL TO:

CITY OF DEFUNIAK SPRINGS

Accounting Department

VIEIS,

33*57*-85

H187 1500

10/3 POSTED 9/30

AMOUNT RATE **HOURS** SERVICE DESCRIPTION DATE 500.00 500.00 1 RETAINER 150.00 75.00 0.5 Received and Reviewed Email ref: Memorandum Unlit 9/1/11 Runway 300.00 150.00 2 Read and Reviewed Letter and Phone Conference with 9/6/11 Kelly ref: Clary Glenn Funeral Home Read and Reviewed Email from Jonathan King ref: Agenda Attended Planning Board Meeting 112.50 0.75 150.00 Attended Meeting with Bill Holloway ref: 18th street 9/8/11 Received and Reviewed Email from Kelly ref: Greg Scoville 450.00 3 150.00 Preparation of Ordinances (4) ref: Moratorium of User Fees 9/9/11 Ordinances 743, 744, 745, and CH 15 75.00 150.00 Received and Reviewed Email and Prepared Letter to Kelly 0.5 9/12/11 ref: Health Dept. Building 75.00 0.5 150.00 Telephone Conference with the Mayor and Kelly 9/14/11 ref: Engineers Contracts 900.00 150.00 6 Preparation of Notices to Enact Ordinances 9/16/11 ref: Ordinances 723, 724 and 725 Preparation of Ad Valorem - Trim Package ref: Prepared Resolutions and Publication Documents 187.50 150.00 Prepared Letter to Wesley Reeder ref: Clary Glenn Funeral 1.25 9/19/11 Home Prepared Letter to Councilman Work ref: Voting Prepared Letter to Jerry Evans ref: Expense Reimbursement 75.00 0.5 150.00 Attended Meeting at City Hall ref: City Manager Position and 9/19/11 Application Telephone Conference with David Bartlett with Preble-Rish ref: 18th Street 75.00 0.5 150.00 Attended Meeting at City Hall ref: City Manager Position 9/21/11 300.00 150.00 Telephone Conference with Attorney Wes Reeder 9/26/11 ref: Clay Glenn Funeral Home Attended Meeting with Loretta ref: Pending Abandonments Prepared City Manager Contract Page 1 of 2

513-3110

9/28/11	Attended Meeting at City Hall ref: Cemetery	1.5	150.00	225.00
	Cost: Postage and Copies 7.12 Mediation Expense 75.73 ref: Bowers v City DFS		82.85	82.85
	•			
				\$3,432.85
				TOTAL DUE

MAKE CHECKS PAYABLE TO: ADKINSON LAW FIRM, LLC

	03 - Attend deposition of		01 - Analysis and evaluation of	
	08 - Document inspection	07 - Deposition of	06 - Court appearance re	
16 Description for third inch. 10 Description	13 - Preparation of	12 - Preparation for	11 - Miscellaneous	
TO Davient	18 - Prepare status	17 - Prepare opinio	16 - Prepare letter t	

01 - Attend 02 - Attend 03 - Attend deposition of 04 - Arrange services of 05 - Conferences with	or American and evaluation of
07 - Deposition of 08 - Document inspection 09 - Factual investigation re 10 - Legal research re	06 - Court annearance re
12 - Preparation for 13 - Preparation of 14 - Preparation for trial, incl: 15 - Prepare and file	11 - Miscellaneous
17 - Prepare opinion letter to 18 - Prepare status report 19 - Review 20 - Review file	16 - Prepare letter to
 22 - Revise 23 - Settlement negotiations with 24 - Take depositions of 25 - Telephone call to or from 	21 - Review letter from
27 - Telephone conference with 28 - Postage 29 - Copies 30 - Fax	26 - Email

Client and Matter	Date	Hours	Costs	Act. Code	Activity Description
City of DeFuniak ref. Unlit Runway	9/1/11	Նո	75.00	26	Received and Reviewed Email ref: Memorandum Unlit Runway Operations from Kelly
City of DeFuniak ref: Clary Glenn -DFS Agenda Planning Board	9/6/11	12	300.00	19,29,02	Read and Reviewed Letter and Phone Conference with Kelly ref. Clary Glenn Funeral Home Read and Reviewed Email from Jonathan King ref. Agenda Attended Planning Board Meeting
City of DeFuniak ref. 18th Street- Greg Scoville	9/8/11	.75	112.50	02,26	Attended Meeting with Bill Holloway ref: 18th Street Received and Reviewed Email from Kelly ref: Greg Scoville
City of DeFuniak ref: Ordinances743,744,745 & CH 15	9/9/11	ω	450.00	13	Preparation of Ordinances (4) ref: Moratorium of User Fees Ordinances 743,744,745 and CH 15
City of DeFuniak ref. Health Dept. Building	9/12/11	Նո	75.00	16,26	Received and Reviewed Email and Prepared Letter to Kelly ref: Health Dept. Building
City of DeFuniak ref: Engineers Contracts	9/14/11	.5	75.00	27	Telephone Conference with the Mayor and Kelly ref: Engineers Contracts
City of DeFuniak ref: Ordinances 723,724, 725 and Ad Valorem-Trim Package	9/16/11	6	900.00	13	Preparation of Notices to Enact Ordinances ref: Ordinances 723,724 and 725 Preparation of Ad Valorem - Trim Package ref: Prepared Resolutions and Publication Documents
City of DeFuniak ref: Clary Glenn, Voting and Jerry Evans	9/19/11	1.25	187.50	16	Prepared Letter to Wesley Reeder ref: Clary Glenn Funeral Home Prepared Letter to Councilman Work ref: Voting Prepared Letter to Jerry Evans ref: Expense Reimbursement
City of DeFuniak ref: City Manager Position 18th Street .	9/19/11	in	75.00	02/27	Attended Meeting at City Hall ref: City Manager Position and Application Telephone Conference with David Bartlett with Preble-Rish ref: 18th Street

		2022 84	10	TOTATE	
	White	A SAME AND			
- Commence of the Commence of					
		75.73			Cost: Mediation Expense ref: Bowers v City
		7.12			Cost: Postage and Copies
The supplier of the supplier o				AAAVORIAN VARANA AAAVORIAN AAAVORIAN AAAVORIAN AAAVORIAN AAAVORIAN AAAVORIAN AAAVORIAN AAAVORIAN AAAVORIAN AAA	
Attended Meeting at City Hall ref: Cemetery	02	225.00	1.5	9/28/11	City of DeFuniak ref: Cemetery
Prepared City Manager Contract	13	150.00	,	9/26/11	City of DeFuniak ref: City Manager Contract
Attended Meeting with Loretta ref: Pending Abandonments	02	75.00	.5	9/26/11	City of DeFuniak ref: Abandonments
Telephone Conference with Attorney Wes Reeder ref: Clary Glenn	27	75.00	.5	9/26/11	City of DeFuniak ref: Clary Glenn .
Attended Meeting at City Hall ref: City Manager Position	02	75.00	រ	9/21/11	City of DeFunjak ref: City Manager Position
Activity Description	Act. Code	Costs	Hours	Date	Client and Matter
LANDAL MARKATORY					The state of the s

TOTALS 19 2932.85

Vendor No: OCTOBER 11 CITY OF DEFUNIAK SPRINGS INVOICE 11/03/11 DATE ADKINSON LAW FIRM LLC OCTOBER 2011 LEGAL DESCRIPTION Check# 64828 11/17/11 PAYABLE 1,437.50 E DISCOUNT AMOUNT PAID TOTAL \$1,437.50 1,437.50

	·	

•		

-	

ADKINSON LAW FIRM ATTORNEYS AT LAW

MONTHLY BILL

CLAYTON J.M. ADKINSON CLAY B. ADKINSON

41 South 6th Street, DeFuniak Springs, FL 32435 Telephone (850) 892-5195 Fax (850) 892-3013

MAILING ADDRESS: Post Office Box 1207 DeFuniak Springs, FL 32435

SERVICE FOR:

CITY OF DEFUNIAK SPRINGS

JOB DESCRIPTION ATTORNEY DATE November 3, 2011

BILL TO:

CITY OF DEFUNIAK SPRINGS

DATE	SERVICE DESCRIPTION	HOURS	RATE	AMOUNT
	RETAINER	1	500.00	500.00
10/5/11	Prepared (3) usage Ordinances, City Manager Ordinance and Firearm Ordinance	2	150.00	300.00
	Revised City Manager Employment Agreement Prepared Notice of Intent to Enact Ordinance for City Manager and Firearms	1	150.00 150.00	150.00 150.00
	Attended Sign Ordinance Meeting with Art Dees	0.5	150.00	75.00
10/6/11	Telephone Conferences with Kelly (2), Mayor (2), and Michelle ref: City Manager	0.5	150.00	75.00
10/12/11	Attended Special Meeting ref: City Manager	0.5	150.00	75.00
10/24/11	Read and Reviewed Email from West Reed ref: Clary Glenn Funeral Home	0.3333	150.00	50.00
10/27/11	Read and Reviewed Email from Loretta Laird ref: Wabash Property	0.41666	150.00	62.50
10/31/11	Received and Reviewed Email from Loretta Laird ref: Chisholm Property	0.25	150.00	37.50
	Received and Reviewed Email from Gwen Adkins ref: Grantham v City of DeFuniak	0.25	150.00	37.50
				1512,50
	MAKE CHECKS PAYABLE TO: 11/9/20	llaway	-	*1,512.49 FOTAL DUE
	MAKE CHECKS PAYABLE TO: 11/9/20 ADKINSON LAW FIRM LLC	011		

MAKE CHECKS PAYABLE TO: ADKINSON LAW FIRM, LLC

V# 15.1

5/3.3//0

Time Sheet for CITY OF DEFUNIAK

l		
l	Ü	1
l	Ē	
l		١
l	C)
l	Č	j
l		٠.
ł		
ı	_	1
ł	r	
ı	_	٠
ŀ	2	
l	_	
ľ	ь.	
ı	۳	
r	_	-
Ì	r	
ı	>	4
ļ	<u>.</u>	ď
ı	r	٦
F	•	d
ŀ	_	4

•	• •	• •	• •
22 - Revise	23 - Settlement negotiations with	24 - Take depositions of	25 - Telephone call to or from
17 - Prepare opinion letter to	18 - Prepare status report	19 - Review	20 - Review file
12 - Preparation for	13 - Preparation of	14 - Preparation for trial, incl:	15 - Prepare and file
07 - Deposition of	08 - Document inspection	09 - Factual investigation re	10 - Legal research re
02 - Attend	03 - Attend deposition of	04 - Arrange services of	05 - Conferences with
	07 - Deposition of 12 - Preparation for 17 - Prepare opinion letter to	07 - Deposition of 12 - Preparation for 17 - Prepare opinion letter to 18 - Document inspection 13 - Preparation of 18 - Prepare status report	07 - Deposition of 12 - Preparation for 12 - Preparation for 13 - Preparation of 13 - Preparation of 14 - Preparation for trial, incl:

26 - Email
27 - Telephone conference with
28 - Postage
29 - Copies
30 - Fax

Client and Matter	Date	Hours	Costs	Act. Code	Activity Description
City of DeFuniak ref: Ordinances	10/5/11	CI	300.00	13	Prepared (3) Usage Ordinances, City Manager Ordinance, and Firearm Ordinance
City of DeFuniak ref. City Manager Agreement	10/5/11	-	150.00	22	Revised City Manager Employment Agreement
City of DeFuniak ref. Intent of Enact Ordinance	10/5/11	1	150.00	13	Prepared Notice of Intent to Enact Ordinance for City Manager and Firearms
City of DeFuniak ref. Sign Ordinance	10/2/11	.5.	75.00	92	Attended Meeting with Art Dees ref. Ordinance
City of DeFuniak ref. City Manager	10/6/11	ŗ,	75.00	27	Telephone Conferences with Kelly (2), Mayor (2) and Michelle ref. City Manager
City of DeFuniak ref: Special Meeting	10/12/11	Ś.	75.00	02	Attended Special Meeting ref: City Manager
City of DeFuniak ref: Clary Godwin Funeral	10/24/11	.33	50.00	26,19	Read and Reviewed Email from West Reed ref: Clary Glenn Funeral
City of DeFuniak ref: Wabash Property	10/27/11	.41	62.50	26,19	Read and Reviewed Email from Loretta Laird ref: Wabash Property
City of DeFuniak ref. Chisholm Property	10/31/11	.25	37.50	26,19	Received and Reviewed Email from Loretta Laird ref: Chisholm Property
City of DeFuniak ref: Grantham v City DFS	10/31/11	.25	37.50	26,19	Received and Reviewed Email from Gwen Adkins ref: Grantham v City DeFuniak
	A Marie 11				
		***************************************			LANDON MARKET TO THE TOTAL OF T

1012.50

6.74

TOTALS

75508, 5641183, 5785353, 5984364, 6030000	AK SPRINGS	ADKINSON DATE 08/11 L
3564, 60300000	Check#	ADKINSON LAW FIRM LLC ATE DESCRIPTION 8/11 LEGAL SERVICE NOVEMBER
	6 5 0 2 ω	VEMBER 2011
	12/15/11	Bank PAYABLE 1 3,565.31
	TOTAL	
	ა. ა. ა. ა. ა.	Account: Accounts Payable DISCOUNT AMOUNT PAID .00 3,565.31

ADKINSON LAW FIRM ATTORNEYS AT LAW

MONTHLY BILL

CLAYTON J.M. ADKINSON CLAY B. ADKINSON

CITY OF DEFUNIAK SPRINGS

BILL TO:

41 South 6th Street, DeFuniak Springs, FL 32435 Telephone (850) 892-5195 Fax (850) 892-3013

MAILING ADDRESS: Post Office Box 1207 DeFuniak Springs, FL 32435

SERVICE FOR:	
CITY OF DEFUNIAK SPRINGS	;

JOB DESCRIPTION ATTORNEY DATE December 8, 2011

DATE	SERVICE DESCRIPTION	HOURS	RATE	AMOUNT
			I O	
44/4/4	RETAINER	1	500.00	500.00
11/1/11	Attended Meeting with Mayor and Sarah	1	150.00	
	Reviewed Gas Contract	0.75		
11/2/11	Read and Reviewed Email from Erin Bradshaw (2) Read and Reviewed Email from Mike Sasser	0.75	,	,
1112111	ref: Gas Contract	0.33334	150.00	50.00
	Attended Meeting at City Hall ref: Gas Contract			
11/9/11	Prepared Ordinance for Annexation and Notice of Intent to	0.5		
	Enact Ordinance ref: Weeks property	2.5	150.00	375.00
Ĺ	Attended Meeting with Greg Scoville ref: Ordinance	1.75	150.00	262.50
11/10/11	Attended Meeting with Opal Chisholm ref: Probate	0.33334		
11/14/11	Prepared Letter to Wesley Reeder	0.5	150.00	75.00
1	ref: Clary Glenn Funeral Home		700.00	70.00
	Telephone Conference with Greg Coville			
11/15/11	ref: Clary Glenn Funeral Home and Sign Ordinance			
11/15/11	Telephone Conference with Bill Holloway and Sara Bowers ref: Mabron	¹ 1	150.00	150.00
	Received, Reviewed, and Replied to Michelle ref: City Manager			
	Prepared Letter to Bill Holloway ref: Chisholm Probate			
11/16/11	Received and Reviewed Email from Loretta, Sarah, and	0.75	450.00	
(Michelle ref: City Manager and Wabash	0.75	150.00	112.50
/11/17/11	Conference with Bill Holloway ref: Wabash	4	150.00	150.00
11/1 & 21/11	Read and Reviewed Proposed Resolution for Dumpster	1	1190.00	150.00 1190.00
	Truck and Prepared Opinion Letter 1% of Truck Loan	'	1150.00	1190.00
	@119,000.00			Į
11/22/11	Read and Reviewed Letter from Wes Reeder and Prepared	0.5	150.00	75.00
44/00/44	Letter to Wes Reeder ref: Clary Glenn Funeral Home			
11/28/11	Telephone Conference and Conference with Kermit and	1	150.00	150.00
	Sarah Cost: Postage - Certified Mail			
-	1	1	50.31	50.31
VS/3-	3/10-3640.31			
14 / <1	X (A) (-257) T	P10 12	12/	\$3,640.31

V# 151

75.00> v#187 -3565,31

TOTAL DUE

5/3-3/10-

01 - Analysis and evaluation of 02 - Attend 03 - Attend deposition of 04 - Arrange services of 05 - Conferences with
06 - Court appearance re 07 - Deposition of 08 - Document inspection 09 - Factual investigation re 10 - Legal research re
 11 - Miscellaneous 12 - Preparation for 13 - Preparation of 14 - Preparation for trial, incl: 15 - Prepare and file
16 - Prepare letter to17 - Prepare opinion letter to18 - Prepare status report19 - Review20 - Review file
21 - Review letter from 22 - Revise 23 - Settlement negotia 24 - Take depositions of 25 - Telephone call to (

pearance re	11 - Miscellaneous	16 - Prepare letter to	21 - Review letter from	26 - Email
on of	12 - Preparation for	17 - Prepare opinion letter to	22 - Revise	27 - Telephone conference with
nt inspection	13 - Preparation of	18 - Prepare status report	23 - Settlement negotiations with	28 - Postage
nvestigation re	14 - Preparation for trial, incl:	19 - Review	24 - Take depositions of	29 - Copies
earch re	15 - Prepare and file	20 - Review file	25 - Telephone call to or from	30 - Fax

Client and Matter	Date	Hours	Costs	Act. Code	Activity Description
City of DeFuniak ref: Meeting	11-1-11	} 4	150.00	02	Attended Meeting with Mayor and Sarah
City of DeFuniak ref: Gas Contract	11-1-11	.75	112.50	19	Reviewed Gas Contract
City of DeFuniak ref: Wabash	11-1-11	.75	112.50	26	Read and Reviewed Email from Erin Bradshaw x 2
City of DeFuniak ref: Gas Contract	11-2-11	.33	50.00	26	Read and Reviewed Email from Mike Sasser ref: Gas Contract
City of DeFuniak ref: Gas Contract	11-2-11	5	75.00	02	Attended Meeting at City Hall ref: Gas Contract
City of DeFuniak ref: Weeks Property	11-9-11	2.5	375.00	13	Prepared Ordinance for Annexation and Notice of Intent to Enact Ordinance ref: Weeks property
City of DeFuniak ref: Sign Ordinance	11-9-11	1.75	262.50	02	Attended Meeting with Greg Scoville ref: Sign Ordinance
City of DeFuniak ref: Chisholm Probate	11-10-11	.33	50.00	05	Attended Meeting with Opal Chisholm ref: Probate
City of DeFuniak ref. Clary Glenn-Sign Ordinance	11-14-11	į,	75.00	16 & 27	Prepared Letter to Wesley Reeder ref: Clary Glenn Funeral Home Telephone Conference with Greg Coville ref: Sign Ordinance & Clary Glenn Funeral Home
City of DeFuniak ref: Mabron, City Manager and Chisholm Probate	11-15-11	, Juneal	150.00	26 & 27	Telephone Conference with Bill Holloway and Sarah Bowers ref: Mabron Received, Reviewed and Replied to Michelle ref: City Manager Prepared Letter to Bill Holloway ref: Chisholm Probate
City of DeFuniak ref: Wabash & City Manager	11-16-11	.75	112.50	26	Received and Reviewed Email from Loretta, Sarah, and Michelle ref: City Manager and Wabash
City of DeFuniak ref: Wabash	11-17-11	ч	150.00	05	Conference with Bill Holloway ref: Wabash
City of DeFuniak ref: Dumpster Truck Closing	11-1 & 21-11	Flat Fee	1190.00	17 & 19	Read and Reviewed Proposed Resolution for Dumpster Truck Prepared Opinion Letter 1% of Truck Loan @ 119,000.00

	City of DeFuniak ref: Kermit & Sarah	City of DeFuniak ref: Clary Glenn	Client and Matter
TOTALS	11-28-11	11-22-11	Date
12.66		ۍ	Hours
3090.00	150.00	75.00	Costs
	02, 27	21 & 16	Act. Code
	Telephone Conference and Conference with Kermit and Sarah	Read and Reviewed Letter from Wes Reeder and Prepared Letter to Wes Reeder ref: Clary Glenn Funeral Home	Activity Description

.

b,

HEORDEN 5011 - U.S. PATENT NO. 5530220, 5575508, 5641163, 5785250, 5864164, 6010000	CITY OF DEFUNIAK SPRINGS	Vendor No: 151 ADKINSON LAW FIRM LLC INVOICE DATE DESCRIPTION DEC2011 12/31/11 LEGAL SERVICES DEC 2011
	Check#	VICES DEC
	65216	2011
	01/12/12	PAYABLE 2,999.60
	TOTAL	Bank Account:Accounts Payable E DISCOUNT AMOUNT PA .00 2,999.60
	\$2,999.60	AMOUNT PAID 2,999.60

ADKINSON LAW FIRM ATTORNEYS AT LAW

MONTHLY BILL

CLAYTON J.M. ADKINSON CLAY B. ADKINSON

41 South 6th Street, DeFuniak Springs, FL 32435 Telephone (850) 892-5195 Fax (850) 892-3013 MAILING ADDRESS: Post Office Box 1207 DeFuniak Springs, FL 32435

SERVICE FOR:

CITY OF DEFUNIAK SPRINGS

JOB DESCRIPTION ATTORNEY
DATE January 6, 2012

BILL TO:

CITY OF DEFUNIAK SPRINGS

1/10/2012. Sec.

DATE	SERVICE DESCRIPTION	HOURS	RATE	AMOUNT
Tall 1		Mark Control	A CONTRACTOR	
12/1/11	RETAINER Prepared Notice of Abandonment ref: Wabash Ave Prepared Letter to Land Owners ref: Wabash Ave Helen Crenshaw, James Williams, Mabron Estate, Vista of FWB x 2, Cecil Davis, Hubert Bell and Clyde Gallo	1 4	500.00 150.00	500.00 600.00
45	way Attended (2) Meeting at City Hall	4	150.00	600.00
12/6/11	Prepared Sign Ordinance	1	150.00	150.00
12/7/11	Revised Sign Ordinance Email Sign Ordinance to Art Dees, Sara Bowers and Greg Scoville	2.25	150.00	337.50
12/14/11	Prepared Letter to Auditor Preparation of Transcribe Minutes from 12-1-11 Meeting	0.5 4	150.00 150.00	75.00 600.00
12/20/11	Attended Meeting	0.33334	150.00	50.00
12/28/11	Attended Meeting	0.75	150.00	112.50
	Cost: Certified Postage(8), Postage and Copies	1	49.60	49.60
	5/3-3110			
		I		\$3,074.60

ا 53,074.bUE

MAKE CHECKS PAYABLE TO: ADKINSON LAW FIRM, LLC

V#151 - 2999.60

City of DeFuniak Springs

JAN 1 0 2012

Accounting Departmen

V#187 -1500

05 - Conferences with	04 - Arrange services of	03 - Attend deposition of	02 - Attend	01 - Analysis and evaluation of
10 - Legal research re	09 - Factual investigation re	08 - Document inspection	07 - Deposition of	06 - Court appearance re
15 - Prepare and file	14 - Preparation for trial, incl:	13 - Preparation of	12 - Preparation for	II - Miscellaneous
20 - Review file	19 - Review	18 - Prepare status report	17 - Prepare opinion letter to	16 - Prepare letter to
25 - Telephone call to or from	24 - Take depositions of	23 - Settlement negotiations with	22 - Revise	21 - Review letter from
30 - Fax	29 - Copies	28 - Postage	27 - Telephone conference with	26 - Email

					City of DeFuniak ref: Meeting	City of DeFuniak ref: Meeting	City of DeFuniak ref: Meeting	City of DeFuniak ref: Auditor	City of DeFuniak ref. Sign Ordinance	City of DeFuniak ref: Sign Ordinance	City of DeFuniak ref: Meeting @ City Hall	City of DeFuniak ref. Wabash Ave	Client and Matter
TOTALS					12-28-11	12-20-11	12-14-11	12-14-11	12-7-11	12-6-11	12-1-11	12-1-11	Date
16.7		THE THE PROPERTY OF THE PROPER	The state of the s		.75	.20	4	.5	2.25		4	4	Hours
2525.00	7 7 7 7 7 7 7 7 7 7 7 7 7 7 7 7 7 7 7 7		THE PROPERTY OF THE PROPERTY O		112.50	50.00	600.00	75.00	337.50	150.00	600.00	600.00	Costs
					02	02	13	16	22,26	13	02	13,16,28,29	Act. Code
	⁄ of De JAN ⊅untino	10	ak s 201,	.		Attended Meeting	Preparation of Transcribe Minutes from Meeting on 12-1-11	Prepared Letter to Auditor	Revised Sign Ordinance Email Sign Ordinance to Art Dees, Sara Bowers and Greg Scoville	Prepared Sign Ordinance	Attended (2) Meetings @ City Hall	Prepared Notice of Abandonment ref: Wabash Ave Prepared Letters to Land Owners ref: Wabash Ave Helen Crenshaw, James Williams, Mabron Estate, Vista of FWB x2 Cecil Davis, Hubert Bell and Clyde Galloway	Activity Description